

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: East Los Angeles Traffic Signal Safety Project Phase I

Project ID: TDS0001706

Bids Opened: 9/12/2023

Bids Opened: 9/12/2023 Project Manager: Omar Moheize n/a

				Engine	er's Estimate	(1) Crosstown Electrical & Data, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Comet Electric, Inc.		(4) DBX, Inc.	
(1) Preliminary Bid Amount						\$	1,138,656.00	\$	51,199,888.00	\$	1,229,876.00	\$	1,455,569.00
(2) Un	t Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	3	\$500.00	MTH	\$1,500.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF BMPS	1	\$6,000.00	LS	\$6,000.00	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00	\$797.00	\$797.00	\$4,500.00	\$4,500.00
5	MOBILIZATION	1	\$30,000.00	LS	\$30,000.00	\$55,000.00	\$55,000.00	\$59,000.00	\$59,000.00	\$94,727.00	\$94,727.00	\$28,000.00	\$28,000.00
6	SALVAGE EQUIPMENT	1	\$1,500.00	LS	\$1,500.00	\$8,500.00	\$8,500.00	\$8,000.00	\$8,000.00	\$6,006.00	\$6,006.00	\$5,000.00	\$5,000.00
7	SCE WORK (ALLOWANCE OF \$20,000)	20000	\$1.00	AL	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
8	EXPLORATORY EXCAVATION OF UTILITIES (ALLOWANCE OF \$100,000)	100000	\$1.00	AL	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00	\$1.00	\$100,000.00
9	CONCRETE REMOVAL (NON- REINFORCED)	21	\$460.00	CY	\$9,660.00	\$195.00	\$4,095.00	\$456.00	\$9,576.00	\$183.70	\$3,857.70	\$200.00	\$4,200.00
10	UNCLASSIFIED EXCAVATION	22	\$430.00	CY	\$9,460.00	\$135.00	\$2,970.00	\$456.00	\$10,032.00	\$128.61	\$2,829.42	\$150.00	\$3,300.00
11	CRUSHED MISCELLANEOUS BASE	17	\$440.00	CY	\$7,480.00	\$265.00	\$4,505.00	\$92.00	\$1,564.00	\$251.00	\$4,267.00	\$300.00	\$5,100.00
12	TRENCH BACKFILL SLURRY (CLASS 270-E-500)	5	\$708.00	CY	\$3,540.00	\$840.00	\$4,200.00	\$683.00	\$3,415.00	\$796.00	\$3,980.00	\$1,000.00	\$5,000.00
13	AC PAVEMENT(PATCH BACK)	4	\$582.00	TON	\$2,328.00	\$1,225.00	\$4,900.00	\$1,423.00	\$5,692.00	\$1,164.00	\$4,656.00	\$1,500.00	\$6,000.00

TDS0001706 Project ID: Bids Opened: 9/12/2023 Project Manager: Omar Moheize n/a

	En		Engineer's Estimate		(1) Crosstown Electrical & Data, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Comet Electric, Inc.		(4) DBX, Inc.		
(1) Pre	eliminary Bid Amount					\$	1,138,656.00	\$1,199,888.00		\$1,229,876.00		\$1,455,569.00	
(2) Un	it Price Detail												
<u>ltem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
14	PCC CURB & GUTTER, TYPE	150	\$94.00	LF	\$14,100.00	\$110.00	\$16,500.00	\$92.00	\$13,800.00	\$104.00	\$15,600.00	\$95.00	\$14,250.00
	A2-VAR												
15	PCC WALK, 4" THICK	650	\$10.50	SF	\$6,825.00	\$45.00	\$29,250.00	\$18.00	\$11,700.00	\$42.85	\$27,852.50	\$40.00	\$26,000.00
16	PCC CURB RAMPS	8	\$1,572.00	CY	\$12,576.00	\$3,735.00	\$29,880.00	\$2,280.00	\$18,240.00	\$3,551.00	\$28,408.00	\$3,200.00	\$25,600.00
17	DETECTABLE WARNING SURFACE	45	\$65.00	SF	\$2,925.00	\$58.00	\$2,610.00	\$114.00	\$5,130.00	\$55.12	\$2,480.40	\$50.00	\$2,250.00
18	1" CONDUIT (SCH 80 PVC)	10	\$36.25	LF	\$362.50	\$45.00	\$450.00	\$44.00	\$440.00	\$204.00	\$2,040.00	\$100.00	\$1,000.00
19	2" CONDUIT (SCH 80 PVC)	5	\$45.00	LF	\$225.00	\$55.00	\$275.00	\$85.00	\$425.00	\$382.00	\$1,910.00	\$100.00	\$500.00
20	3" CONDUIT (SCH 80 PVC)	1095	\$58.50	LF	\$64,057.50	\$95.00	\$104,025.00	\$158.00	\$173,010.00	\$115.00	\$125,925.00	\$120.00	\$131,400.00
21	4" CONDUIT (SCH 80 PVC)	10	\$58.90	LF	\$589.00	\$125.00	\$1,250.00	\$70.00	\$700.00	\$1,500.00	\$15,000.00	\$100.00	\$1,000.00
22	3-CONDUCTOR SIGNAL	2537	\$3.00	LF	\$7,611.00	\$3.00	\$7,611.00	\$4.00	\$10,148.00	\$4.25	\$10,782.25	\$10.00	\$25,370.00
	CABLE(EXCLUDING												
	CONDUIT)												
23	5-CONDUCTOR SIGNAL	631	\$3.00	LF	\$1,893.00	\$3.25	\$2,050.75	\$5.00	\$3,155.00	\$4.50	\$2,839.50	\$30.00	\$18,930.00
	CABLE(EXCLUDING												
	CONDUIT)		ΦΕ 40		* 40.057.50	# 5.00	#40.00F.00		#00 0 40 00	A7.00	\$00.075.00	400.00	<u> </u>
24	12-CONDUCTOR SIGNAL	3325	\$5.10	LF	\$16,957.50	\$5.00	\$16,625.00	\$7.20	\$23,940.00	\$7.00	\$23,275.00	\$20.00	\$66,500.00
	CABLE(EXCLUDING CONDUIT)												
25	WIRE #6	657	\$2.70	LF	\$1,773.90	\$3.00	\$1,971.00	\$4.00	\$2,628.00	\$12.00	\$7,884.00	\$6.00	\$3,942.00
26	WIRE #10	4980	\$1.80	LF	\$8,964.00	\$1.50	\$7,470.00	\$2.00	\$9,960.00	\$5.00	\$24,900.00	\$2.00	\$9,960.00
27	REROUTE EXISTING	4900	\$3,960.00	LS	\$3,960.00	\$2,175.00	\$2,175.00	\$6,500.00	\$6,500.00	\$934.00	\$934.00	\$5,000.00	\$5,000.00
21	INTERCONNECT CABLE	•	40,000.00	LO	\$6,000.00	ψ=,σ.σσ	ψΞ,σ.σσ	ψο,σοσ.σο	φο,σσο.σσ	40000	40000	φο,σσοίσσ	ψο,σσσ.σσ
28	RECONNECT	1	\$360.00	EA	\$360.00	\$650.00	\$650.00	\$2,000.00	\$2,000.00	\$934.00	\$934.00	\$5,000.00	\$5,000.00
	INTERCONNECT CABLE	•											
29	REMOVE PULL BOX AND	17	\$840.00	EA	\$14,280.00	\$990.00	\$16,830.00	\$1,700.00	\$28,900.00	\$1,000.00	\$17,000.00	\$2,000.00	\$34,000.00
	RESURFACE SIDEWALK												
30	COMPOSITE TYPE 3 PULL	17	\$1,122.00	EA	\$19,074.00	\$2,600.00	\$44,200.00	\$1,900.00	\$32,300.00	\$1,619.00	\$27,523.00	\$1,800.00	\$30,600.00
	BOX INCL COVER												
31	4-CAMERA VIDEO/RADAR	2	\$52,602.00	EA	\$105,204.00	\$35,250.00	\$70,500.00	\$29,000.00	\$58,000.00	\$70,000.00	\$140,000.00	\$51,000.00	\$102,000.00
	DETECTION SYSTEM												
	(COMPLETE), RACK MOUNT												
- 25	17" LCD MONITOR		# 004.00		#C 070 00	#00F 00	ФГ 000 00	# 400.00	#2 222 22	#474.00	#4 000 00	фгоо оо	#4.000.00
32	CAMERA MOUNT EXTENSION	8	\$834.00	EA	\$6,672.00	\$625.00	\$5,000.00	\$400.00	\$3,200.00	\$171.00	\$1,368.00	\$500.00	\$4,000.00

TDS0001706 Project ID: Bids Opened: 9/12/2023 Project Manager: Omar Moheize n/a

	Eng		Engineer's Estimate		(1) Crosstown Electrical & Data, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Comet Electric, Inc.		(4) DBX, Inc.		
(1) Pre	eliminary Bid Amount					\$1,138,656.00		\$1,199,888.00		\$1,229,876.00		\$1,455,569.00	
(2) Un	it Price Detail												
ltem	Description	Qty	Unit Price	Unit	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
33	REMOVE TYPE 17 STANDARD	8	\$1,440.00	EA	\$11,520.00	\$1,475.00	\$11,800.00	\$1,400.00	\$11,200.00	\$746.00	\$5,968.00	\$2,500.00	\$20,000.00
	(COMPLETE) (EXCL. FOUND.)	Ü	. ,		, ,	, ,	, ,			,		, ,	, ,
34	REMOVE TYPE 17	8	\$1,614.00	EA	\$12,912.00	\$1,650.00	\$13,200.00	\$1,700.00	\$13,600.00	\$2,000.00	\$16,000.00	\$3,000.00	\$24,000.00
	FOUNDATION	•											
35	SHIELD HIGH VOLTAGE	1	\$9,600.00	EA	\$9,600.00	\$3,385.00	\$3,385.00	\$15,000.00	\$15,000.00	\$1,079.00	\$1,079.00	\$3,500.00	\$3,500.00
	WIRES FOR REMOVAL OF												
	EXISTING TRAFFIC SIGNAL												
	POLE												
36	TEMPORARY TYPE 17	1	\$9,444.00	LS	\$9,444.00	\$45,000.00	\$45,000.00	\$2,500.00	\$2,500.00	\$15,000.00	\$15,000.00	\$9,500.00	\$9,500.00
	STANDARD												
37	REMOVE VEHICLE HEAD	22	\$198.00	EΑ	\$4,356.00	\$90.00	\$1,980.00	\$100.00	\$2,200.00	\$180.00	\$3,960.00	\$200.00	\$4,400.00
	(COMPLETE)												
38	REMOVE PEDESTRIAN HEAD	16	\$186.00	EA	\$2,976.00	\$90.00	\$1,440.00	\$100.00	\$1,600.00	\$194.00	\$3,104.00	\$100.00	\$1,600.00
	(COMPLETE)												
39	REMOVE TYPE 332 CABINET	1	\$805.00	EA	\$805.00	\$1,720.00	\$1,720.00	\$1,000.00	\$1,000.00	\$1,466.00	\$1,466.00	\$1,500.00	\$1,500.00
40	REMOVE TYPE 332 CABINET	2	\$670.00	EA	\$1,340.00	\$1,485.00	\$2,970.00	\$1,000.00	\$2,000.00	\$4,394.00	\$8,788.00	\$1,500.00	\$3,000.00
	FOUNDATION												
41	TYPE 332 CABINET	1	\$14,400.00	EA	\$14,400.00	\$28,500.00	\$28,500.00	\$27,000.00	\$27,000.00	\$27,000.00	\$27,000.00	\$29,000.00	\$29,000.00
42	TYPE 332 CABINET	2	\$2,352.00	EA	\$4,704.00	\$2,750.00	\$5,500.00	\$3,000.00	\$6,000.00	\$4,046.00	\$8,092.00	\$6,000.00	\$12,000.00
	FOUNDATION												
43	RELOCATE RETRO	8	\$774.00	EA	\$6,192.00	\$675.00	\$5,400.00	\$500.00	\$4,000.00	\$533.00	\$4,264.00	\$700.00	\$5,600.00
	REFLECTIVE STREET NAME												
	SIGN												
44	TYPE 2070 CONTROLLER	1	\$10,800.00	EA	\$10,800.00	\$13,065.00	\$13,065.00	\$12,500.00	\$12,500.00	\$14,570.00	\$14,570.00	\$12,000.00	\$12,000.00
45	SWITCH PACK	6	\$132.00	EA	\$792.00	\$195.00	\$1,170.00	\$48.00	\$288.00	\$216.00	\$1,296.00	\$90.00	\$540.00
46	PEDESTRIAN PUSH BUTTON	12	\$270.00	EA	\$3,240.00	\$1,060.00	\$12,720.00	\$361.00	\$4,332.00	\$375.00	\$4,500.00	\$195.00	\$2,340.00
47	PEDESTRIAN PUSH BUTTON	12	\$114.50	EA	\$1,374.00	\$45.00	\$540.00	\$46.00	\$552.00	\$106.00	\$1,272.00	\$35.00	\$420.00
	PLATE												
48	TYPE III-BF SERVICE	1	\$3,960.00	EA	\$3,960.00	\$6,055.00	\$6,055.00	\$7,557.00	\$7,557.00	\$7,000.00	\$7,000.00	\$7,500.00	\$7,500.00
	CABINET												
49	TYPE III-B SERVICE CABINET	1	\$1,380.00	EA	\$1,380.00	\$2,225.00	\$2,225.00	\$3,000.00	\$3,000.00	\$5,120.00	\$5,120.00	\$4,500.00	\$4,500.00
	FOUNDATION												
50	PEDESTRIAN PUSH BUTTON	2	\$894.00	EA	\$1,788.00	\$1,085.00	\$2,170.00	\$950.00	\$1,900.00	\$1,291.00	\$2,582.00	\$1,500.00	\$3,000.00
	POST												

TDS0001706 Project ID: Bids Opened: 9/12/2023 Project Manager: Omar Moheize n/a

				Engineer's Estimate		(1) Crosstown Electrical & Data, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Comet Electric, Inc.			(4) DBX, Inc.
(1) Pre	eliminary Bid Amount					\$	1,138,656.00	\$	1,199,888.00	\$1,229,876.00		\$1,455,569.00	
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
51	TYPE 19 STANDARD	1	\$8,328.00	EA	\$8,328.00	\$12,275.00	\$12,275.00	\$11,700.00	\$11,700.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00
52	TYPE 24 STANDARD	2	\$14,688.00	EA	\$29,376.00	\$12,500.00	\$25,000.00	\$11,900.00	\$23,800.00	\$11,000.00	\$22,000.00	\$15,000.00	\$30,000.00
53	TYPE 24 STANDARD WITH MODIFIED 24' HIGH POLE	1	\$14,688.00	EA	\$14,688.00	\$13,850.00	\$13,850.00	\$11,600.00	\$11,600.00	\$11,000.00	\$11,000.00	\$16,000.00	\$16,000.00
54	TYPE 26 STANDARD	4	\$20,754.00	EΑ	\$83,016.00	\$15,115.00	\$60,460.00	\$14,100.00	\$56,400.00	\$12,000.00	\$48,000.00	\$20,000.00	\$80,000.00
55	PEDESTRIAN PUSH BUTTON POST FOUNDATION	2	\$1,032.00	EA	\$2,064.00	\$1,035.00	\$2,070.00	\$1,500.00	\$3,000.00	\$721.00	\$1,442.00	\$500.00	\$1,000.00
56	TYPE 19 STANDARD FOUNDATION	1	\$3,600.00	EA	\$3,600.00	\$4,495.00	\$4,495.00	\$6,570.00	\$6,570.00	\$7,568.00	\$7,568.00	\$16,375.00	\$16,375.00
57	TYPE 24 STANDARD FOUNDATION	3	\$4,590.00	EA	\$13,770.00	\$5,750.00	\$17,250.00	\$6,570.00	\$19,710.00	\$5,341.00	\$16,023.00	\$16,375.00	\$49,125.00
58	TYPE 26 STANDARD FOUNDATION	4	\$5,472.00	EA	\$21,888.00	\$7,075.00	\$28,300.00	\$8,129.00	\$32,516.00	\$5,914.00	\$23,656.00	\$16,375.00	\$65,500.00
59	30' SIGNAL MAST ARM	1	\$4,950.00	EA	\$4,950.00	\$4,405.00	\$4,405.00	\$4,400.00	\$4,400.00	\$4,715.00	\$4,715.00	\$3,500.00	\$3,500.00
60	35' SIGNAL MAST ARM	3	\$5,760.00	EΑ	\$17,280.00	\$4,825.00	\$14,475.00	\$4,800.00	\$14,400.00	\$4,592.00	\$13,776.00	\$4,000.00	\$12,000.00
61	40' SIGNAL MAST ARM	3	\$5,960.00	EA	\$17,880.00	\$6,225.00	\$18,675.00	\$6,300.00	\$18,900.00	\$6,252.00	\$18,756.00	\$6,000.00	\$18,000.00
62	45' SIGNAL MAST ARM	1	\$3,600.00	EA	\$3,600.00	\$6,975.00	\$6,975.00	\$7,100.00	\$7,100.00	\$7,620.00	\$7,620.00	\$6,500.00	\$6,500.00
63	12' LUMINAIRE MAST ARM	8	\$920.00	EA	\$7,360.00	\$1,505.00	\$12,040.00	\$1,700.00	\$13,600.00	\$1,667.00	\$13,336.00	\$680.00	\$5,440.00
64	12' LUMINAIRE MAST ARM - STRAIGHT	8	\$1,512.00	EA	\$12,096.00	\$1,495.00	\$11,960.00	\$1,700.00	\$13,600.00	\$1,667.00	\$13,336.00	\$680.00	\$5,440.00
65	LED LUMINAIRES (200W HPS EQUIVALENT)	8	\$930.00	EA	\$7,440.00	\$1,180.00	\$9,440.00	\$1,041.00	\$8,328.00	\$1,046.00	\$8,368.00	\$500.00	\$4,000.00
66	RELOCATE LUMINAIRE	8	\$300.00	EΑ	\$2,400.00	\$865.00	\$6,920.00	\$500.00	\$4,000.00	\$171.00	\$1,368.00	\$150.00	\$1,200.00
67	3-12" LED VEHICLE HEAD (COMPLETE)	22	\$1,002.00	EA	\$22,044.00	\$1,410.00	\$31,020.00	\$1,700.00	\$37,400.00	\$1,615.00	\$35,530.00	\$1,300.00	\$28,600.00
68	5-12" LED VÉHICLE HEAD (COMPLETE)	4	\$1,300.00	EA	\$5,200.00	\$1,955.00	\$7,820.00	\$2,600.00	\$10,400.00	\$2,297.00	\$9,188.00	\$1,750.00	\$7,000.00
69	LED COUNTDOWN PEDESTRIAN HEAD (COMPLETE)	12	\$936.00	EA	\$11,232.00	\$1,050.00	\$12,600.00	\$1,400.00	\$16,800.00	\$1,303.00	\$15,636.00	\$850.00	\$10,200.00
70	8' STRAIGHT ARM CLAMP-ON FOR STREET NAME SIGN	8	\$2,556.00	EA	\$20,448.00	\$3,280.00	\$26,240.00	\$3,100.00	\$24,800.00	\$2,000.00	\$16,000.00	\$2,000.00	\$16,000.00
71	REMOVE STRIPING	600	\$2.40	LF	\$1,440.00	\$7.00	\$4,200.00	\$6.20	\$3,720.00	\$6.66	\$3,996.00	\$6.00	\$3,600.00

Project ID: TDS0001706 Bids Opened: 9/12/2023

Bids Opened: 9/12/2023 Project Manager: Omar Moheize n/a

		Engineer's Estimate		(1) Crosstown Electrical & Data, Inc.		(2) Elecnor Belco Electric, Inc.		(3) Comet Electric, Inc.		(4) DBX, Inc.			
(1) Pre	eliminary Bid Amount					;	\$1,138,656.00		\$1,199,888.00		\$1,229,876.00		\$1,455,569.00
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	<u>Unit Price</u>	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
72	REMOVE DETAIL 22	400	\$2.40	LF	\$960.00	\$7.00	\$2,800.00	\$6.20	\$2,480.00	\$6.66	\$2,664.00	\$6.00	\$2,400.00
	(THERMOPLASTIC)												
73	12" STRIPING	320	\$9.60	LF	\$3,072.00	\$8.30	\$2,656.00	\$7.40	\$2,368.00	\$7.96	\$2,547.20	\$8.00	\$2,560.00
	(THERMOPLASTIC)												
74	24" STRIPING	1846	\$9.60	LF	\$17,721.60	\$17.25	\$31,843.50	\$16.00	\$29,536.00	\$16.53	\$30,514.38	\$14.50	\$26,767.00
	(THERMOPLASTIC)												
75	REMOVE SIGN PANEL	2	\$150.00	EA	\$300.00	\$64.00	\$128.00	\$57.00	\$114.00	\$61.89	\$123.78	\$100.00	\$200.00
76	SIGN PANEL	17	\$516.00	EA	\$8,772.00	\$210.00	\$3,570.00	\$188.00	\$3,196.00	\$203.00	\$3,451.00	\$180.00	\$3,060.00
77	SIGN POST (ROADSIDE SIGN)	1	\$300.00	EA	\$300.00	\$355.00	\$355.00	\$317.00	\$317.00	\$342.00	\$342.00	\$300.00	\$300.00
78	TRAFFIC CONTROL	1	\$39,000.00	LS	\$39,000.00	\$15,000.75	\$15,000.75	\$66,249.00	\$66,249.00	\$18,450.87	\$18,450.87	\$176,000.00	\$176,000.00
79	FLASHING ARROW SIGN	2	\$3,500.00	EA	\$7,000.00	\$4,500.00	\$9,000.00	\$800.00	\$1,600.00	\$4,408.00	\$8,816.00	\$2,500.00	\$5,000.00
80	CHANGEABLE MESSAGE	2	\$3,500.00	EA	\$7,000.00	\$5,000.00	\$10,000.00	\$2,800.00	\$5,600.00	\$4,408.00	\$8,816.00	\$3,500.00	\$7,000.00
	SIGN												
Unit Price Total				\$979,186.00	;	\$1,138,656.00		\$1,199,888.00		\$1,229,876.00		\$1,455,569.00	
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00	
(4) LSBE/DVBE/SE Adjusted Amount						;	\$1,138,656.00		\$1,199,888.00		\$1,229,876.00		\$1,455,569.00
Comments					APPARENT	LOW BIDDER							